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Question 1_(30 marks)
what are the types of  p ipes used in water distr ibut ion systems?. tb l
Given the network shown in Fig.  1,  the inf low at  A,  and outf lows at  C, D and E. Using Hardy
Cross method, f ind the f lows in the indiv idual  p ipes compris ing the network (only one tr i " l  is
requ i red) .  . .  . . .  t25 l
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Question 2 (25 marks)
a) Discuss the purpose of  using equivalent pipe?. I5 l
b)  For the system shown in f ig.(2),  when the f low from the elevated tank at  A is 120

liUsec, the pressure at D was 2.5 kglcm2 . The flow to D must be increased to 165 liVsec
with a pressure at  D equals 1o 3.5 kg/cm2. What s ize of  p ipe, 1 500 ms long, should be
Ia id f romBtoD(showndot ted)para | |e l to theex is t ing250mmtoaccompi i sh th is -3
result? i20l

E leva ted  Tank

L : l , .r()0 nrs l -500 rns

F iq .  1

Fis. z See next page.



Question 3 (25 marks)

lnvest igaie the minor pipes of  t l re distr ibut ion
The required fire flow 400 lit isec. Feeders are
feeders is 2.8 kglcmz.

system shown in Fig.  3.
1000 ms apart  and the normal pressurein  the
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Question 4 (20 marks)

a)

b)

Compare (using sketches as possible) between different types of surface water
in takes .  . . . , [10 ]

An artesian wel l  is  pumped at  the rate of  1.6 m3/min.  At  observat ion wel ls 150m and 300m
away, the drawdowns noted are 0.75m and 0.60m, respect ively.  The average thickness of
the aqui fer  at  the observat ion wel ls is 6.0m. Compute the coeff ic ient  of  permeabi l i ty  of  the
aqui fer .  I10l

200m 200m 200m 200m 200m
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